6 KIIACC. NMOATOTOBKA K 3K3AMEHY
Jucm 2 Ynpouwienue sviparxcenui

Ynpocmume evipascenue u natioume e2o 3HaueHue npu 3a0aHHBIX 3HAYEHUAX OYKGYL.

1) 5(3x-4)-(4x-7) npu x=-01
2) —0,5(24x +8) npu x=2

3) 6—(08+3x) npu x=25

4) 5x-4(0,25x-1) npu x=-1

5 -12-(2,8-8x) npu x=2

6) Ex—(f.%x—ﬂj+4 npu x:—§
5 5 7

7 — (4,12x —1) +(38x-1) npu x=-100
8) 56-06(5x+2) nmpu x=-21

9) /x+ 2(0,5 - 15x) npu x =3
10) 10(0,15x - 0,6) - % (48-5x) npu x=-1

11) - %(49 + 2,lx) - (Zx - 5) npu x =-10

12) - 5(2,8x —1,2) + 0,2(7 - 40x) npu x =-35
13) - 0,6(5+10x) +10(0,12x — 0,8) npu x =-0,114)

14) 22,{£x —Ej - 35,](3x —ﬂj npu x = 1
16 7 13 9 3

15) x—(2x +(35x - 4)) npu x= -é



